Mittelwerte - Quartile - Varianz - Standardabweichung

Ergebnisse

1)  GroBe: ¥=134,95; s = 3,80; ¥=135,25; Q; = 131,5; Qs = 138
Gewicht: ¥=29,75:s=4,07; ¥=295: Q= 26,5; Qs = 32

2) GroBe: ¥=132,31;s=5,95; ¥=131,75; Q; = 127; Qs = 135,25
Gewicht: ¥=30,63;s=4,72; ¥=30,25; Q1= 27; Qs = 34,75

3) ¥=12,1;s=087: ¥=121: Q=11,3; Q3 =127
4) ¥=704;s=1390; ¥=745; Q = 60; Qs = 82
5) ¥=583:5:=432 %=6 Q=2 Qs=7

6.) ¥=6;5=3,15

7) ¥=292;s=1,09

8) ¥=185;s5=119

9) ¥X=4:5=417

10.) ¥=7,245;s=5267

11) ¥%=1625:5=-109



